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. = EEEM | B | B & % 1B Bk H EEEM | B | B E % fH
T TR SR 200 g 64 54 || FaDrA — — — —
LA = B 200 g 108 5| HEANA IR 10 ke 2, 700 2,376
Tk 1 &' M 200 g 75 32 | Wi — — - —
9 NAZE S = B 200 g 48 5| &U = & 10 ke 4, 860 2,160 |
HFh&E = A 150 g 64 — || TR E— = B 270 g 270 75
CLwAEL X B 180 ¢ 75 54 | ©DDHD N = B 270 g 270 75
— — — — — | | = B 270 g| 486 216

PN A £ % 10 ke | 972 — || 7R A = 9 ke| 14, 040 6, 480
P A U A ™ 5 10 ke 1, 404 972

< & E E 15 kg| 2,160 1, 080

R G P4 g ! 10 ke 1, 296 864

LE R L E 10 ke 2, 700 1, 296

EwoY =0 5 ke 1, 728 1,296

Ao (=3 5 ke| 2,160 1,728

N Ag K 4 kg 1,512 1, 296

B = AN 150 g 86 | 75

ExhED Foag L 2 ke 2, 160 1,944

Fhovwix ERS 10 ke 2,376 1, 620 i

mERE Rk I 10 ks|. 4,104 3, 888

A LWz ™ 5 100 g 140 64

LU = % 100 ¢ 59 32
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R 5 TEEMH | B | B | & & ! 2 EEEMS | B | B OB | B &
£F S HEH A © 1lke 2, 700 2,484 | Y4 F U 1 kg 2, 592 1, 080
BESAHE KEE | 1lke 1, 296 1,242 | Y I 1ke 1, 080 432
Ty | AR 1 ke 1,080 162 | #T7 = =R ~1kg | - 2,160 972
PR = B ‘1ke 2, 052 172 | AEH _ FRER (LI 1ke 1,058 —
AT A 1ke 1,112 | - 162 | FU X Tt E 1 ke 3, 456 1,188
ANVAA T =l 1 ke 831 723 | BTV < AviEE 1 248 b4
HE N F % IF 1ke 1,512 248
E&A = IR 1ke 1,404 |~ 216
EH = m 5 1ke 3, 240 2, 700
INE B K’ | lke 1,620 756
7% U th 1ke 1,728 572
ks = B 1kg 3,132 864
A H I 1ke | 1,080 432
E7 BIRE 1 ke 2, 257 1, 296
VU T w5 1 kg 1,782 —




